
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 − 4 =(−2) (−10) + 8 =(−1)

(−10) − (−8) = (−8) − (−9) =(−1)

10 − 3 =(−1) 5 − (−6) =2

7 − 2 =2 9 + 4 =(−2)

5 + (−4) =2 (−10) − (−3) =2

7 − 7 =(−2) 2 + 3 =2

(−9) − 7 =(−2) 8 + 7 =(−1)

7 − (−4) =2 (−6) − 8 =2

(−8) + (−3) =2 4 + (−2) =(−1)

6 − (−4) = 7 + 2 =
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 − 4 = (− ) = (−3 )(−2)

49
195

49
48

(−10) + 8 = = 7(−1)

10
79

10
9

(−10) − (−8) = (−2) (−8) − (−9) = = 8(−1)

8
71

8
7

10 − 3 = (− ) = (−2 )(−1)

10
29

10
9

5 − (−6) = 312

7 − 2 = 472 9 + 4 = = 4(−2)

81
325

81
1

5 + (−4) = 212 (−10) − (−3) = 1032

7 − 7 = (− ) = (−6 )(−2)

49
342

49
48

2 + 3 = 72

(−9) − 7 = (− ) = (−6 )(−2)

81
566

81
80

8 + 7 = = 7(−1)

8
57

8
1

7 − (−4) = 532 (−6) − 8 = 282

(−8) + (−3) = 612 4 + (−2) = (− ) = (−1 )(−1)

4
7

4
3

6 − (−4) = 10 7 + 2 = 9
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